8 -2
Parallelograms
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Theorem 8.3 :

Opposite sides are cm_rgmmj; :
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Theorem 8.4 :

Opposite angles are mngmmj: .
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Theorem 8.5 :

Consecutive angles are SMklﬂmM :

(+ 18D)

K



Theorem 8.6 :

If a parallelogram has one right angle,

then [+ has 4 r:‘glgj: @]gs .
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Ex: LMNP is a parallelogram. Find
| m <« PLM, m«LMN, and d.
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Theorem 8.7 :

Diagonals of a parallelogram
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Ex: What are the coordinates of the
intersection of the diagonals of
parallelogram ABCD with vertices

A(2, 5), B(6, 6), C(4, 0), and D(0, -1) ?
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Theorem 8.7 :

Each diagonal separates the

parallelogram into 7 corgruint As .




Homework:

8 -2 WS (all)
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